o)
&
g Ry .
[] c
o;, ; 7819 g : 5
- B _ > x °
: T ) 1819 @ o[ |@
o 2 N .
£ 8 3 o919
. 3 3 g
5 _ s
ﬁ g % g : ) ; § 8 |m
S 8 N g e ' G 8 |89 5|3 |3
a o » 96’19 TN (g2 [“uR- ] g,
> — o © oo xl_q [ IR-) °
s 5 [ c NnNe | o= 4
eI EE : 6.7 - e 5
5 5 E g g £ N X = 5750411,42 . - (+706,84 689 E g
B IEREE $ Y = 55689893,09 0 % o S 18
- = 2 K o c o
SR BERN wooL o 5 )
< g & ¥ X % s £ % 0o &\ sigl g £13 |5
N N 2 & &8 2 I £ . [oles ~—epupEsO 2 SUOPq BUPMS @ ala S
') o «© 8 T € § 5 (%] ST 9629 BRUP | . :& &
€S E § < s 2 = g &  GOFT00ZA OO RS E - |52 X
Z@L’;.'E.Q-D'co o \8/¥8} \ z g
& & 5% 8 % @ i - | 8
s § -ﬁ 2 c ) g g e ¥9 . [ g g
M s s 5 s 8§ § = ] wQ — 0 3 o &
UJ'?".‘*-‘?°‘3% i\ o £ gl & 3
_I 1 1 | h S “g [=) ". P -&
I | | @ | \».\ugL='\Ag/°L‘0SB)\S]BUQJPEJ“H ‘:,;' ﬁ : é § s
. & = 3 = o 3
@ 2 667 =N e ) 5| £ & s 52 (B
3 — I []
L AL GLG éﬂgﬁé & g ey s e |8
‘ol o - | % | € 5
\{iﬂ: 8l 7% v 68Z {]9\,/"78\, E § E E’
79 onal Mg 7 g g z 3 g |B
0p | 8| B < [Blg |8
8 e / : S g | E| § 52 |8
5 Xz 0 il = sg .2 | B LBEIE S
650 o ook 66, 7; 28 |48 | &8s (23 |8
— : 666,73 (sg Eg 88 8¢ E|S |8
st 22 1979 P " . — 92 |2 B |26
_y - 019 o o N ol -
< 7]
A = 2 i ;
o 4 06 2] - ) b3 8 §§ | |
R o it g5 19 H . Oy | s x
: i el > &3 [
’ , /v ! oz ;23 3
' Gt S i Hgkr oy
. | o7 5] _; -g 3 ¥ EET
N : i l Bl 2. L E\EE
lv =1 ¢L/¥8 % :ﬁ % gxat ?'g 2
19 St | oL . gl o i | ° Jes
V8= o wQy — T9% , 4 g I M ) i | S °
cv/v81e! :U)] 636, 0+640,40 3 g | §
- = 575081,77 =20 5 K09+636,32 8 i 31 | L
> 4 Y= 55690781 4 32,@,@0@%32,23 g§ ol [l |2 11 | | I
g i 4! - 6L/v8 E 19 2 3 §§E§§,a§ 553*_, | LI
% WOg - H ] E Zl5E | 5 3
Gv/¥8} ¥8l S ; | 1
s g
il I HO|§ 5| |5 L g
. A |
© o HHHERRLES (M EER |
MG/ ° : §i Eﬁg%gghzg § :
/. i 1 |38 1 5. [Asgdg & :
n W %Egg ggg 5.'5'1‘2-{‘ § §
e HELHEEE %' P 3§
== ~s‘c:7 § ‘gg P
M i~ 9 123 | E
) |
LV
™ A
¥8),
9119 @
) e
= 769
1 Ay
N
ov)/¥8Y wog” 2
=
1yl/¥8V
. g6/c8 ¢ : _
' 759 =2 yoa6e6855 =
879 ° 3 - ¢y'e9 )VV(LVQGQLQ :'(N)X
q1 L - y0'0 =8
0 - o =
Lo/ fu o 57558 {1 *;glg }1
w/ e 1 oo 5, 01155 885 =
X = 57504 H 5K O570,65 ogrcs =100
Y = 558089854 iy - 7 P 0+p67,70 00°00 =
q - - LM
¢'69 ‘ £ .
o (533 070066855~ s
c1r1gesls =0 | (n ;199
seicl =[P L
w9 9819
079
o Y
iy L WRHRE 079
o ; . s +546
M= ,
5759571, 89546.90
769" Y = 5589900,20
W0y
616
\ 1669
M -
u
I 9 .
. PpuszdNdd Z neyupobzn #
ﬂ\ Zgg UWSIZ| 1uelp HBUBUB!\HZ
. o819
0¢9 4 B
q1 W =
009 o —_
Of
/ '8 e T
y59 —_
\
q1 —_
159 1 "
! ! / +501,11
9 KLK 0+501,12
X: 57
99627
:55 !77
59" 89905, 34
NS
>
879"
w
8
99/58) co/ce)
8
7
979"
wa
-
41/0}5




